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QUESTION 1

An engineer must configure Cisco OEAPs for three executives. As soon as the NAT address is configured on the
management interface, it is noticed that the WLC is not responding for APs that are trying to associate to the internal IP 

management address. 

Which command should be used to reconcile this? 

A. config flexconnect office-extend nat-ip-only disable 

B. config network ap-discovery nap-ip-only enable 

C. config flexconnect office-extend nat-ip-only enable 

D. config network ap-discovery nat-ip-only disable 

Correct Answer: D 

https://community.cisco.com/t5/wireless/office-extend-ap-and-external- addresses/td-p/3742395 

 

QUESTION 2

An engineer is performing a Cisco Hyperlocation accuracy test and executes the cmxloc start command on Cisco CMX.
Which two parameters are relevant? (Choose two.) 

A. X, Y real location 

B. client description 

C. AP name 

D. client MAC address 

E. WLC IP address 

Correct Answer: AD 

https://www.cisco.com/c/en/us/td/docs/wireless/controller/technotes/88/b_ap_4800_hyperlocatio
n_deployment_guide.html 

 

QUESTION 3

An engineer is configuring multicast for wireless for an all-company video meeting on a network using EIGRP and BGP
within a single domain from a single source. Which type of multicast routing should be implemented? 

A. Protocol Independent Multicast Dense Mode 

B. Source Specific Multicast 

C. Multicast Source Discovery Protocol 
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D. Protocol Independent Multicast Sparse Mode 

Correct Answer: D 

Pim Sparse uses a distributed way to deliver multicast to the devices that asked for this traffic. 

In Dense mode the multicast traffic will be flooded out to all devices in periodic time, causing lot of traffic overhead. 

 

QUESTION 4

Which command set configures a Cisco Catalyst 9800 Series Wireless Controller so that the client traffic enters the
network at the AP switch port? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 
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https://www.cisco.com/c/en/us/support/docs/wireless/catalyst-9800-series-wireless-controllers/213945-understand-
flexconnect-on-9800-wireless.html Note: To enable Local switching, you have to disable central switching 

 

QUESTION 5

A customer has a distributed wireless deployment model where the WLCs are located in the data centers. Because the
file servers are located in the data center, the traffic from the corporate WLAN “Corp-401266017” must go through the
controllers, where the guest WLAN “Guest-19283746” traffic must use the local Internet line installed in each office.
Which configuration will accomplish this task? 

A. Disable Local Switching for the corporate and guest WLAN. 

B. Disable Local Switching for the corporate WLAN and enable it for the guest WLAN. 

C. Enable Local Switching for the corporate and guest WLAN. 

D. Enable Local Switching for the corporate WLAN and disable it for the guest WLAN. 

Correct Answer: B 
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